Simplifying Expressions (B)
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2. —1-3y%-y*. (—7y2)

24c4 )
S5 (-5) - (—4¢Y)
b4
4.
—1-(=1)-(=b?)
5.7z-10z-5z- 7

Simplify each expression.

6. —z2-6z-4-z2

- 8u

8. —8b-b*- (—b*) - 8b°

9. —v* - (—8v%) - 8v* - (—9v)

Math-Drills.com




N

9,

Simplifying Expressions (B) Answers

Simplify each expression.

3l/l6 6. —Z2.6z.4.Z2
= —10u°
8u? )
_1.3y2 )72'(_7)72) 7 Euu
= 21y° = u*
24c* > 8. —8b-b*- (—b°)-8b°
~—a () (=4) — 64D
= 80c*
v 9. —v* - (—8v%) - 8v* - (—9v)
= —576v’
—1-(=1)-(=b?)
— _p?
4
10. 4 - Y 5
. 7z-10z-5z-2 v (=v?)
= 3507 =—4dv
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